Z = 1 — A No.1i1

~ TH3IFEF7TAXREFTCOLERERZ2(EEE)ICDODIVT ~

= B N £
—_

RAICETEEMIE7 ARFTTORELRMERIIAERHAL TRDILTVET,

1B|28 |38 |4 |5A|6A | 7B | 8B |9A |10B|11B|12A| &%
R3 |[625|543| 601 | 564 | 618 | 630 | 647 4,228
R2 |[726|850| 756 | 687 | 610 | 634 | 683 4,946
% | -101|-307(-155(-123| +8 | -4 | -36 -718
1,000 R3 HR2
800
600
400
200
0
1A 2H 3H 4AH 5H 6H 78 8H 9H 108 11AH 128
LEILEEL. 2RISR LTUVETS,
EER | FAH |ELhsn|HRbs0 | HENER (A 12| BEERZ|V-1KY| B5IE
R 3 99 32 247 114 37 65 596 3 698
R2 187 99 312 144 38 122 675 5 802
S| -88 -67 -65 -30 -1 -57 -79 -2 -104
R3 R2 b Po R R3 R2 MR
F £ 377 353 +24 N 425 594 -169
LR 132 123 +9 X B 20 26 -6
M e 347 400 -53 # &8 342 357 -15
M BthE 531 609 -78 R ¥ 91 96 -5
wel=kiTi 122 119 +3 E E 31 67 -36
& W 137 121 +16 B 5 24 25 -1
it B 600 766 -166 = 29 69 -40
b3 436 633 -197 # B 240 179 +61
E B 198 243 -45 2 ik 146 166 -20

ZEREEARE EEREER LFALXRE




